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December-2021
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CE-202(A) : Corporate Accounting

Time : 2 Hours]

Instruction : (1)  All Questions in Section — I carry equal marks.
(2) Attempt any TWO Questions in Section — L.

(3) Question No. 5 in Section — II is compulsory.

Section — I

[Max. Marks : 50

1.  The following is the balance sheet of Dhairya limited as on 31/3/2020. 20
Particulars Note 3
I. EQUITY AND LIABILITES
(1) Shareholder’s Funds :
(a) Share capital :
120000 Equity shares of ¥ 10 each 12,00,000
3000 10% Preference shares of ¥ 100 each 3,00,000
(b) Reserves and Surplus
General reserve 4,50,000
Profit & Loss A/c :
Balance from 2018-19 2,40,000
Profit for 2019-20 12.90,000 15,30,000
(2) Non-Current liabilities :
(a) Long term provisions :
Depreciation fund of Building 1,65,000
(3) Current liabilities :
(a) Trade payables : Creditors 1,05,000
Total 37,50,000
DH-116 9 P.T.O.




II ASSETS:

(1) Non-Current Assets :

(2) Current Assets :

(a) Fixed Assets :

(1) Tangible Assets :
Building at cost 3,90,000
Machinery at cost 30,000

(b) Non-current Investments :

5% Debenture of Vipul limited (Face value 11,40,000
% 12,00,000)
(c) Other Non-current Assets : Preliminary expenses 15,000

(a) Inventories : Stock 13,50,000

(b) Trade receivables :

Debtors 7,50,000
(-) Bad debt reserve 60,000 6,90,000
Bills Receivables 30,000
(c) Cash and cash equivalent : Bank balance 1,05,000
Total 37,50,000

You are required to compute the value of Goodwill of the company, at three years’

purchase of its super profit taking into account, the following particulars :

(1
)

)
4
)
DH-116

The building is now worth ¥ 6,75,000

Companies doing similar business show a profit earning capacity of 20% on

market value of their shares.
The profits for the last three years have shown an increase of ¥ 90,000 annually.
Profit for 2019-20 shown above is before tax; assume tax at 50%.

For computation of average profit, weights to be used are 1,2 & 3 respectively.
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2. Following is the Balance sheet of Hanie limited as on 31/3/2020. 20
Particular Note 4
L. EQUITY AND LIABILITES
(1) Shareholder’s Funds :
(a) Share capital :
Equity shares of ¥ 10 each fully paid 2,00,000
10% Preference share capital 4,00,000
(b) Reserves and Surplus : General reserve 6,00,000
(2) Non-Current liabilities :
(a) Long term borrowings : 10% Debenture 8,00,000
(b) Long term provisions :
Provident fund 1,00,000
Depreciation fund :
Land & building 1,20,000
Machinery 80,000 2,00,000
(3) Current liabilities :
(a) Trade payables :
Creditors 1,20,000
Bills payable 1,40,000
(b) Short term provisions: Provision for tax 40,000
Total 26,00,000
II. ASSETS:
(1) Non-Current Assets :
(a) Fixed Assets :
(i) Tangible Assets :
Land & Building 12,00,000
Machinery 7,60,000
(b) Non-current Investments : Shares of subsidiary 1,00,000
company
(2) Current Assets :
(a) Inventories : Stock 2,00,000
(b) Trade receivables :
Debtors 2,40,000
Bills Receivables 80,000
(¢) Cash and cash equivalent : Bank balance 20,000
Total 26,00,000
DH-116 11 P.T.O.



Other information :

(1) Value of machinery is to be increased up to < 8,00,000.
(2) Debtors include I 20,000 being bad debts.

(3) Book value of Land & Building is 180% of market price.

(4) Market price of 40% stock is 25% more and remaining stock require repairing of

%20,000.
(5) Liability of ¥ 80,000 is to be payable for worker’s compensation.
(6) Goodwill is estimated at ¥ 10,60,000.
(7) Expected rate of return is 15%.

(8) Net profit after tax is I 3,00,000 out of which ¥ 40,000 is to be transferred to

General reserve.

Calculate Fair Value of an equity share of the company.

3.  (A) In the books of Bandhan Bank, loan account of Yogeshbhai shows a debit
balance of ¥ 18,00,000 as on 31/3/2020. Interest at 18% per annum is due on
this loan account for the year 2019-20. However, the financial position of
Yogeshbhai is reported to be doubtful. The bank is in possession of certain shares

as security whose market value is ¥ 13,00,000. 10

Yogeshbhai was declared insolvent on 19/4/2020. The bank could realize

3 12,74,400 from the sale of shares.

Pass necessary journal entries in the books of the bank.
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(B) From the following balances of the Equitas bank as on 31/3/2021, prepare Profit
& Loss Account (Form B) and schedules 13 to 16 :

DH-116

Particulars 4
Interest on savings account 16,500
Interest on fixed deposit 33,000
Director fees 7,500
Audit fees 4,500
Administrative expenses 12,000
Law charges 7,500
Repairs of asset 4,500
Cash credit interest 37,500
Overdraft interest 45,000
Loan interest 1,50,000
Share capital 8,00,000
Interest on current account 1,200
Discount received on bills 6,300
Rebate on bills discounted (1/4/2020) 1,200
Credit balance of P&L A/C (1/4/2020) 45,000
Bank charges recovered from customers 8,250
Salaries and allowances 19,500
Rent of safe deposit vault 7,800
Rent and tax paid 1,800
Sundry expense 2,700
Sundry income 1,500

Other information :

(1) Proposed dividend is 10%.

(2) Provide X 3,000 for bad debts and X 7,500 for taxes.

(3) The balance of rebate on bills discounted as on 31/3/2021 is ¥ 1,500.

13
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4.  XYZ limited went into voluntary liquidation on 31/3/2021. Balance sheet on that date

20

was as under :
Particulars Note 3
I. EQUITY AND LIABILITES
(1) Shareholder’s Funds :
(a) Share capital :
5,000 ‘A’ Equity shares of ¥ 100 each fully paid 5,00,000
10,000 ‘B’ Equity shares of ¥ 100 each, I 50 per share
paid 5,00,000
15,000 ‘C’ Equity shares of ¥ 100 each, I 40 per share
paid 6,00,000
10,000 15% preference shares of I 100 each 10,00,000
(2) Non-Current liabilities :
(a) Long term borrowings : 15% Debenture 10,00,000
(b) Long term provisions : Provident fund 75,000
(3) Current liabilities :
(a) Trade payables :
Creditors 1,75,000
Bills payable 75,000
(b) Other current liabilities :
Outstanding interest on debenture 75,000
Outstanding salaries of three clerks for three months 22,500
Outstanding income tax :
2020-21 10000
2019-20 17500 27,500
Total 40,50,000
II. ASSETS :
(1) Non-Current Assets :
(a) Fixed Assets :
(i) Tangible Assets :
Land & Building 15,00,000
Plant & Machinery 11,50,000
(b) Non-current Investments 3,50,000
(c) Other Non-current assets : Profit & Loss A/C 5,50,000
(2) Current Assets :
(a) Inventories : Stock 1,50,000
(b) Trade receivables : Debtors 2,50,000
(¢) Cash and cash equivalent : Cash on hand 1,00,000
Total 40,50,000

DH-116
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2
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Assets were realized :

Land & Building % 12,50,000
Plant & Machinery 36,75,000
Investments $2,50,000
Stock T 1,25,000
Debtors <2,00,000

The expenses of liquidation amounted to I 25,000. Liquidator’s remuneration is
4% on assets realized by him and 2% of the payments to the unsecured creditors.

All payments were made on 30/6/2021.

Prepare Liquidator’s final statement of Receipts and Payments.

Section — II

5. Choose the correct option : (any five) 10

)

2

3)

“4)

&)

DH-116

When there is continuous reduction in profit of company every year, then which
profit is taken into account for calculating goodwill ?

(a) Weighted Average Profit ~ (b) Simple Average Profit
(c) Capitalized Profit (d)  Super Profit

The company has assets of ¥ 10,00,000 and Liabilities of I 2,00,000. The average
annual profit is ¥ 90,000 and expected rate of return is 10%. Calculate the
goodwill by purchase of two years super profit.

(a) ¥ 40,000 (b) 20,000
(c) 80,000 (d) 60,000

Total assets of the business are ¥ 9,00,000, Liabilities ¥ 5,00,000 and expected
rate of return is 12.5%. Annual average profit is ¥ 58,000. Value of the goodwill
on the basis of capitalization of profit will be

(a) 62,500 (b) 2,00,000

(c) 64,000 (d) 46,000

Price of shares of a public limited company is quoted in stock market if-
(a) Take over (b) There is no speculation

(c) Valuation is done (d) Listing is made

If the fair value of an equity share for a company is ¥ 600 and its market value is
3 560, then the intrinsic value of share is-

(a) %540 (b) %620
) %600 ) 3640
15 P.T.O.
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The fair price of equity share means —

(a) Face value

(b) Yield value

(¢) Average of intrinsic value and market price
(d) Difference of face value and market price

In which account is the interest accrued on non-performing assets, deposited on
the date of maturity ?

(a) Profit & Loss account (b) Interest Suspense account
(c) Interest account (d) None of these

From the following details find out the amount of the discount to be credited to
the bank’s Profit & Loss A/C in 2020-21 :

Discounted bills Z12,00,000
Discount received < 1,00,000
Rebate on discounted bills (1/4/2020) 310,000
Average due date of discounted bills 12/06/2021.
Rate of discount is 10% p.a.

(a) 86,000 (b) 90,000

(c) % 1,24,000 (d) < 1,10,000

As per Banking Regulation Act, every bank has to transfer of profit to
Statutory Reserve Fund Account.

(a) 20% b)) 5%

(c) 10% (d) 15%

In which order liquidation expenses and liquidator’s remuneration are paid ?
(a) After paying preferential creditors

(b) After paying secured creditors

(c) After paying debenture holders

(d) Before paying secured creditors

The liquidator has a cash balance of ¥ 5,40,800 after paying to the debenture
holders. 4% remuneration is payable to the liquidator on the amount paid to
unsecured creditors. Calculate the amount payable to unsecured creditors.

(a) 5,20,000 (b) 5,40,000

(¢) 20,800 (d) 40,800

Which of the following is considered as unsecured creditors ?
(a) Employees’ gratuity (b) Outstanding Expenses

(c) Employees’ Provident Fund (d) Unpaid taxes of local government
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